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10. Draw a sketch of Disintegrator and write its function.

6
<R &1 W@d - qAT 39D B
®T 9o o |

OR (3121an)
What is difference between belt conveyor and
Elevator?
doc HaaX qAT Yferder A a7 I 87
11. What is role of dewatering in ceramic industry?

Write about a dewatering equipment. 6

Rrafie e T 4 fsarefRT &1 ¢ Ja 32

T fSareRT Suavr @ IR ¥ fad |
OR(37214T)

What is difference between conduction and

convection? Write about a equipment in details

where conduction taken place.

H-SaT qAT H-ARE A T 3R 87 UH

SYBHRYT BT duf9 B S8l d-sae[ "gfed
BhdT 2 |
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Sem - IV / Cera.
Chemical Engg.

Time : 3Hrs.

Full Marks : 70
Pass Marks : 28
Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question
carries 4marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all five questions from Group C, each question

carries6 marks.

7u-C & wift ufg yeal @ SR <, UAS U &1 99 6 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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6. Write about rotary dryer. 4 )

Al SRR @ IR ° ford |
OR (3121an)
Write on compartmental dryer.

HHCHed SRR IR ford | (iii)

GROUP -C

Answer all Five Questions.

gl ufg gzl & SR o |

5x6=30

7.  What is shaking screen? How is it used? Write (i)

in detail. 6

AfST Wb |1 2?7 39 D9 SYINT fear
oirar 27 fawr § ford |

OR(37214)
(iv)

Write about orifice used in flow of fluid. Also
explain about venturimeter.

¥ @ el H 3RIfBE &1 Sudifirar qarg |
A=g e &1 H avfa &¥ |

3 1613403
foa arushy R ST @) Wl 87
(31) 100” C
@) 200°C
(&) 300" ¢
(@) 400’ C

Grizzly screen use:
(a) Set of parellel bars
(b) Silk

(c) Wire

(d) Perforated plates

firsreft & SuAlT BT @
(31) wuTaR 9~ @71 W<
@) Riew

(|) 9ar™x

(]) uwiRee wicH

Trommels are :

(a) Revolving screens
(b) Shaking screens
(c) Vibrating screens
(d) None of these

P.T.O
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(xx)

Answer all Five Questions.

12 N3026

ted R e g &1 v@ar 2,
ER RIS E R E

(31) Aces Uiohe=

(@) TS uioheH

(@) Rea sz

(@) 3 4@ BIg el

GROUPB

5x4=20

gl ufg g3 & SN < |

Write about gyratory crusher. 4

MRS HIR & IR H o |

OR(37214)

What is Pot mill?

gie e ¢ar 87

Write about trommels. 4

oid & IR A fod |

N3024046

(vi)

(vii)

(vii)

(viii)

5 1613403

RERR 4 fFaa g1 dc grame
Il 2 |

(31) Hade=

(@) D=

(a) M

(@ 3 4 oI T

Luminous flame has:
(a) Lower flame temp
(b) Higher flame temp
(c) Unburnt carbon
(d) None of these

Sgf Tew § grar ?:
(31) <R wel¥ ATUsHA
(@) BRR TA¥ ATUHH
(d) 3{E=< ®Hra+

(?) 379 | ®Ig T

The co-efficient of conductivity varies with:
(a) Temperature

(b) Area

(¢) Thickness

(d)Volume

P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)
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foae sSuaT 4 s 49 Jwg
foar smar 87?7

(31) Ragmex

@) @i 3Ala

(®) d9rger

(])

Ball mill is filled with porcelain balls upto :
(a) 75% in volume

(b) 50% in volume

(¢) 25% in volume

(d) Any quantity

did fira 9 grddq d9fcd ¥R oTd
8, 34 :

(31) 75 ufcrera maas A

(@) 50 ufcrera smaas o

(&) 25 ufaera maas o

() fodft Y sr=r

Pot mill is made of:
(a) Steel

(b) Porcelain

(c) Copper

(d) None of these

N4046

(x)

(xi)

(xi)

(xii)

7 1613403

i 4 e gl dRar 2
(31) DrsaH

(d) HdaerE

(a) fSweH

(@) 379 9 BIg L

The unit of thermal conductivity is :
(a) Btw/hr. ft. °F

(b) Btu/sec. ft. °F

(¢) Btw/hr.in. 'C

(d) Btu/mt.ft. 'C

ot wrsfaefady &1 gfe grar 2
(31) Btu/hr. ft. F
(@) Btu/sec. ft. 'F
(&) Btwhr.in. 'C
(g) Btwmt.ft. 'C

Flow of flue gas in a faster way depends
upon chimney is :

(a) Height

(b) Diameter

(c) Rectangular shape

(d) None of these
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